@15% B#1.51.515f I*BE%?%Rb\baﬁxEl MBS EVBEIF TERREEDF I,
*10/22h R (FIIFRR) DS

REBRE CENT .@‘?ﬁﬂ% KTILGE IAY)

T RE= jcf%‘ H#ﬂ‘.%‘a*kmﬁ%ll 26

=X
iﬁﬁlﬁ(ﬁlﬂiﬂ?ﬁ)b‘bt‘ﬁﬁ
SRR SRR 2R
SREFEFIISA, MESKITH,
RHREIZ10R IR S h 3!
RAZR. HRPSHBET
DEELM AR ERIRIISh
THEY AROYLREL %7 >
HEYVEBLSNBBE)TT !
FNF R PDOZRED RS
EBEEPSRTHEEAN?

1828

7()\(3‘3—)\7&%)
2B =E

s IR{TE

10822% | 79,900=

31 (B — ) 2,000 =
184k 125,500 L

BT (3~ 12,0003 1%
2| Fri RIS SR LD
5513 AT C PHIFIC
<EEVCBEN VMBS,

FEREBL BRI TR

(_k.. \

-—

BREER
CGHTEHiR, EREIEER)

BR (6:57~8:03) ==/ | |BR=——# 1 /EBR——

KlEER (RERE5E) TTHRE
HTE) GOEE (I HEREIE) =

RER=HREE T
EEREFSZEE
P uie )

N

b= (B RIAR)
L EADCEE = m LIS aEX
e BEEEER) -~ SRR
==BRRBR(19:42~21:36)

= RERBR=——

4
== 1[I H
-5 |BR B

ATFBRIBES FDF Y FH23HE

FEREIMES S =r it OrE M ) — A= 11-1031-0201



